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Part A: Use the properiies fo justify the reason for each step in the chart below.
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Part B: Suppose that the properly used in step {d| is not used at all fo solve this
equation. what other alfernafives do you have fo solve this equatien from
step (c] unfil you get the answer?
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Solve each equation.

1 |x-2/-3=5 2. |x+7+2=10
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Solving Absolute-Value Equations

Solve each equation.
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13. How many solutions does the equation [x + 7|= 1 have? ;M 0

14. How many solutions does the equation [x + 7|=0 have? Oﬁ <_
15. How many solutions does the equation |x + 7|=—1 have? DN

Leticia sets the thermostat in her apartment to 68 degrees. The actual
temperature in her apartment can vary from this by as much as
3.5 degrees.

16. Write an absolute-value equation that you can
use to find the minimum and maximum

17. Solve the equation to find the minimum and
maximum temperature.
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